Математические спички.
Задание: Переложить одну спичку так, чтобы получилось верное равенство.

№1.                                                              №2.

[image: image1.jpg]M-V =1V



[image: image2.jpg]



№3.                                                                        №4.                                                

[image: image3.jpg]|




                  [image: image4.jpg]V=V VXV





     №5.                                                                          №6.

[image: image5.jpg]£ S




             [image: image6.jpg]



